Electrical Gnd Instl And Sealant R414-558 J 01

A DIVISION OF PACCAR

8 | 7 | 6 | 5 <& 4 | 3 | 2 | 1
F F
= 6D
=)
Q)
FAN OUT GND LUGS TO
ALLOW PROPER CONTACT.
ROUTE TO FRAME MTD COMPONENT
E E
DETAIL A
S ITEM| PART NUMBER DESCRIPTION
% 6 |K363-338-2-250 WASHER-FLAT, STL, M6
— 5 |K363-175CA WASHER- HARDEND SPL. —
4 |Kk233-530 STUD - FRAME GROUND
3 |K169-163-10CA NUT-HEX, LKNG, STL, M10 INSIDE OF
GROUND STRAP 2 |K169-163-6CA NUT-HEX, LKNG, STL, M6 FRAME RAIL
D (K246-417 ) 61 |680071BLK CAP - STUD PROTECTOR D
RADIATOR GROUND STRAP FOR USE WITHOUT COMMON CHASSIS FRAME GROUNDDlLSCT’g 'gLNS
B MODEL FRONT AXLE <
T600 ON CENTERLINE
T800 30MM ( FORWARD )
GND LUG (TYP) W900B / L 556.4MM GND LUG -
C SEE DETAIL A. W900S 552MM SEE DETAIL A C
N T2000 ON CENTERLINE
T300 300MM ( FORWARD )
) THIS TABLE IS INTENDED TO PROVIDE
- @" GROUND LOCATIONS MOST COMMONLY -
USED FOR EACH MODEL AND DOES
USE LOCK NUT WITH ENG NOT IMPLY STRICT ADHERENCE TO THEM.
ENGINE GROUND GND STUD OR APPROPRIATE DIMENSIONS ARE AFT OF CENTERLINE
TORQUE PER R026-198-042 HEX BOLT W/O ENG GND STUD: FRONT AXLE UNLESS NOTED OTHERWISE.
B , FRAME GROUND STUD |B
gsm— SURFACES MATING WITH GROUND TERMINAL o e e oD
AT 34- N-M (25-26 LB-FT
ARE TO BE CLEAN AND FREE OF PAINT OR COATINGS. 84-35 (2526 )
APPLY ELECTRICAL CONTACT CORROSION INHIBITOR
_— (SEALANT) TO ALL GROUND TERMINALS AND ADJACENT _—
SURFACES, PER R026-198-98 (WIRING SECTION ).
3) SEE SLEEPER HARNESS ROUTINGS FOR SLPR GND INSTL.
4) GND STUDS NOT TO BE USED TO MOUNT STANDOFFS FOR ANY REASON.
[5—=ALL TORQUE VALUES SPECIFIED IN THIS DOCUMENT ARE FOR
A REFERENCE ONLY. TORQUE REQUIREMENTS APPLICABLE TO GROUND A
STUDS ARE CONTROLLED IN R026-198-98.
NOT REQUIRED WITH FULL INSERTED RAILS.
DWG
SIZE
8 7 6 5 I 4 6 2 1 A2




Electrical Gnd Instl And Sealant

A DIVISION OF PACCAR

R414-558

02

8 | 7 | 6 | 5 & 4 | 3
USE WITH B SERIES USE WITH T2000
ITEM PART NUMBER DESCRIPTION ITEM PART NUMBER DESCRIPTION
F 5 600-0101-5/16 WASHER-STAT-O-SEAL, 5/ 16" 4 K363-338-2-312 WASHER-FLAT, STL, M8 =
4 K363-338-2-312 WASHER-FLAT, STL, M8 3 K233-549 STUD - FIREWALL GROUND
3 K233-549 STUD - FIREWALL GROUND 2 K169-163-8CA NUT-HEX, LKNG, STL, M8
2 K169-163-8CA NUT-HEX, LKNG, STL, M8 1 K169-160-8 NUT - HEX METRIC BRASS
1 K169-160-8 NUT - HEX METRIC BRASS
E E
D gEREOUD'\é[;A';IL_JGA (TYP) GROUND LUG (TYP) D
: SEE DETAIL A.
BE <
c FIREWALL GROUND STUD c
B SERIES TORQUE FIREWALL GND STUD
AT 7-9 N-M (5-7 LB-FT)
GROUND LUG -
SEE DETAIL A.
B ITEM PART NUMBER DESCRIPTION B
4 K363-338-1-190 WASHER-FLAT,STL,M5
3 WO01-10-01P55L020Z |SCREW-PSD,PAN HD M5
2 K169-158-5CA NUT-HEX,STL,M5
1 K169-163-5CA NUT-HEX,LKNG,STL,M5 |
A "A" CAB INSTRUMENT PANEL GROUND
(NO SEALANT REQUIRED INSIDE CAB) A
DWG
SIZE
8 7 6 | 5 I 4 | 3 A2




